L0 = hm E(MPM—HXB
h- o h
& h/\S\Leud‘WoV(g ot e o e 90

ok Y L oHag \fveSY\—O/J%L o X <(j =L(x)

Bc\fﬁc Q)QCUMP(Q: S::g(_@ CPOS‘LHW OCF,
+(M 'b> gl ({’) — U@/KUQ‘L‘\Q

kgwﬁl — SP%( |

S{((@ — QCce@/wL lwq/\

#35% W=5.67+0,7|+.0067
W o

A
<mgzﬁﬁ*a03%b
Yy wetiS
ceubmetec

— ‘ Se = c
l \o | (0‘0 (OOQI:QQP b (0 cm
| A {p=10 =07 +.134
= 834 2w

so Al af/d
- Ep

=

L IPOA
(BQCCMSQ, -0-{7)— Sy

|







2:b Clhain Rule

Y= (Sx’“rﬁvz‘) ‘ gj:eKL

Ouv vules o not coven el off Ve .
(9. Each o Hure Fuuchon T a
CW/\W”L\L{ oo Y =890 Lo

g =(z24)> 9= 3248 tpy=ul>
)QL

y =& O 30=x" fu=e”

[\/\V\Q/L 0wt

H@W to ‘vec\cé Ao fring

i o 188yl

fhol Oxmogu el

Hiw nuwlao .
Lcyw&/c oCL tﬂ js\“(ﬂ OQ} e | '

Wouct OW Asle: Guan swodd clagecl
Y | W\w} & Coives. CWOM /

3




Twa @*bexf U= ?OQ\ J =H

.
O dx twdlwer clowgo tuuy du=(gd)dx

@ du ol cliango 1n y_ Jy= g
Ay X
So 0@ (i?{\)o?w XQ{\

Ql(MB 9(“\ A

(OW 5;(@(30& @CW\B 3
dy _ 2y dy
\ o I T AW A

———————

o8 e Y
2O Ld=u w\ K
Sk y= (3¢ *S\D i‘((%\~"‘*/2" 9l =x
% (6 = LBM@V’“(WB
2

= 3x (31 L
9




‘(\(ICLO—':@ Y ()Q 2—>§ ’

= Vool 2, 3
ﬁpn@(?f%yéﬁcxy — €>< ‘OZX :%XQ)Q# v
[\///"L B .

Two \/\Qw rofia

\ a{x [90y "l =n [%gj - i)

”(ZCUL\:(A . .

el =nw \

& A9 %O&\' ([~
frel s e

F(w\ =
=4 \
ey =Jaal = (D

t .
%— — é(){l—\(% /ZCZXD = X (KZ’%\)“VL

—



€9 Y= s 16 4+ S %@ (Cdg@} 4%3\\4@}
&Q (= COS(@LO +SMC@L®>
W = C’(@OS€> (—sin8) +H(E v(év)EQcog@>

— L& C«qg vic Qosgéﬁbc()gé@l\/\g@J ~
e y= sw =(su(A)

s
=) gm[x% cos(X2) Zx

= % X s (x> ees o«)




